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SN2 E i —_—
AER X AT HEEYIRS AR T gy ti
OEBHIL (L) — 0.05 — PA-1000
Q@A O +E — 0.05 — PA-1000
3/1(A)Bh 7K ER A 1513 — 0.06 — PA-1000
@IZaF — 0.05 — PA-1000
iz 0.05 0.06 — PA-1000
OIRGEFL (L) — 0.06 — PA-1000
QA O F:E — 0.05 — PA-1000
9/1 (X BN Q7K B A 1513 — 0.05 — PA-1000
@IF5>aTF — 0.05 — PA-1000
fibis 0.04 0.05 — PA-1000
FE31FE i —
AEE X AEHA AEECVAIES —RUBE) T e e
OEBHL (L) — 0.06 — PA-1000
Q@I A O +E — 0.06 — PA-1000
3/2(A)EY Q7K ER A 1513 — 0.06 — PA-1000
@IF5>aTF — 0.05 — PA-1000
15 0.05 0.06 — PA-1000
OIRGEFIL (L) — 0.06 — PA-1000
QmfIA DA — 0.05 — PA-1000
9/2(R)EN Q7K ER A 1513 — 0.05 — PA-1000
@IZ>aF — 0.05 — PA-1000
iz 0.04 0.07 — PA-1000
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FRRI0EE i —
AER X AT HEEYIRS AR T gy ti
OEBHIL (L) — 0.06 — PA-1000
Q@A O +E — 0.06 — PA-1000
3/1(&) BN 7K ER A 1513 — 0.06 — PA-1000
@IZaF — 0.05 — PA-1000
iz 0.06 0.06 — PA-1000
OIRGEFL (L) — 0.06 — PA-1000
QA O F:E — 0.05 — PA-1000
9/5(K)EEh Q7K B A 1513 — 0.06 — PA-1000
@IF5>aTF — 0.05 — PA-1000
fibis 0.06 0.06 — PA-1000
F 205 i —
AEE X AEHA AEECVAIES —RUBE) T e e
OEBHL (L) — 0.05 — PA-1000
Q@I A O +E — 0.05 — PA-1000
3/1(K) BN Q7K ER A 1513 — 0.06 — PA-1000
@IF5>aTF — 0.05 — PA-1000
15 0.06 0.07 — PA-1000
OIRGEFIL (L) — 0.06 — PA-1000
QmfIA DA — 0.06 — PA-1000
9/1(&)EY Q7K ER A 1513 — 0.06 — PA-1000
@IZ>aF — 0.05 — PA-1000
iz 0.07 0.06 — PA-1000
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FRi28EEE i —
AER X AT HEEYIRS AR T gy ti
OEBHIL (L) — 0.08 — PA-1000
Q@A O +E — 0.05 — PA-1000
3/10K) BN 7K ER A 1513 — 0.07 — PA-1000
@IZaF — 0.05 — PA-1000
ibis 0.06 0.06 — PA-1000
OIRGEFL (L) — 0.07 — PA-1000
QA O F:E — 0.06 — PA-1000
9/2(&)ENL Q7K B A 1513 — 0.07 — PA-1000
@IF5>aTF — 0.05 — PA-1000
fibis 0.07 0.08 — PA-1000
FR2TEE i —
AEE X AEA AEECVATES —RUEBE_T gy e
OEBHIL (L) — 0.08 — PA-1000
Q@I A O +E — 0.06 — PA-1000
3/1 () BN Q7K ER A 1513 — 0.08 — PA-1000
@IF5>aTF — 0.06 — PA-1000
15 0.07 0.09 — PA-1000
OIRGEFIL (L) — 0.08 — PA-1000
QmfIA DA — 0.06 — PA-1000
9/1 (X BN Q7K ER A 1513 — 0.08 — PA-1000
@IZ>aF — 0.06 — PA-1000
iz 0.08 0.08 — PA-1000
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FRi265E i —
AER X AT HEEYIRS AR T gy ti
OEBHIL (L) — 0.09 — PA-1000
Q@A O +E — 0.08 — PA-1000
3/2(A) BN 7K ER A 1513 — 0.09 — PA-1000
@IZaF — 0.08 — PA-1000
ibis 0.08 0.09 — PA-1000
OIRGEFL (L) — 0.09 — PA-1000
QA O F:E — 0.07 — PA-1000
12/2 (K BER Q7K B A 1513 — 0.09 — PA-1000
@IF5>aTF — 0.07 — PA-1000
fibis 0.10 0.08 — PA-1000
OEBHIL (L) — 0.09 — PA-1000
Q@I A O +E — 0.07 — PA-1000
9/2 (X)) BEN Q7K ER A 1513 — 0.11 — PA-1000
@IF5>aTF — 0.08 — PA-1000
ibi5 0.09 0.11 — PA-1000
OIEGEFL (L) — 0.10 — PA-1000
QA QTR — 0.07 — PA-1000
6./2(R)EN Q7K ER A 1513 — 0.09 — PA-1000
@IS>aF — 0.08 — PA-1000
iz 0.09 0.08 — PA-1000
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i — 0.09 — PA-1000
o6 %ﬁktﬂllkmfr% — 0.08 — PA-1000
2,20(K) Eh IKERGH5 58 — 0.11 — PA-1000
@75:;? oT1 0.09 — PA-1000
iy . 0.10 — PA-10
ORCLINES) — 0.12 — PA—1088
QEEIA Ok — 0.10 — PA-1000
12/6(%£) Bh QK ERAIH 1T i — 0.11 — PA-1000
@75;;:? 039 0.09 — PA-1000
b . 0.12 — -
OIRELINES) — 0.10 — ﬁﬁ-lggg
QmEEIA A fHE — 0.08 — PA-1000
1079(0K) Eh ®7J<ﬁx_a7fi§1rr5& — 0.09 — PA-1000
@D 5;;? 036 0.11 — PA-1000
iy . 0.10 — PA-10
QR LINED) — 0.12 — PA—1088
QEEIA O A — 0.09 — PA-1000
QKR #3515 — 0.10 — PA-1000
@7?*/E:‘F — 0.10 — PA-1000
@Fz?if“'; 0.07 0.10 — PA-1000
> — 013 — PA-1000 EE R BIE (REFETF/H D AT BEIE D
2/; = 2 — A1o0 /ﬁi AIEEIED B BI5RT)
> — 0.12 — PA-1000 ”
8/70K) BEh @/\3? — 011 — PA-1000 ”
@/\N/ﬂ‘ — 0.12 — PA-1000 7
@§(9= — 014 — PA-1000 7
G F — 012 — PA-1000 7
@;\/f — 0.10 — PA-1000 7
@s "—I5F — 0.11 — PA-1000 7
/V—I5F — 0.11 — PA-1000 7
K/ —T5F — 011 — PA-1000 7
QO#EEHET — 0.13 — PA-1000 7
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AERR

AR AlEE (Y15 B
=g - SBI| % A5 AEE(RAM78—X)LEER) i
/,EIIEE 951'; /ﬁ']IEi‘l'I_j, Sem 50cm 100c¢m IEIIIE%% 1%%
[ORCLETNES) — 0.12 — PA-1000
QmEBIA OfHE — 0.09 — PA-1000
6./6(K) £Y QK A5 4T — 0.10 — PA-1000
@JS52aTF — 0.11 — PA-1000
fhi5 0.10 0.12 — PA-1000
OIRCLINES) — 0.10 — PA-1000
QEEIA Ok — 0.11 — PA-1000
4,/18(K) Bh QK ERA G 41 — 0.11 — PA-1000
@IS aTF — 0.09 — PA-1000
b5 0.12 0.12 — PA-1000
71 (787)
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5cm 50c¢m 100cm
OIEFHID (L) — 0.12 — PA-1000
QmERIA AR — 0. 11 — PA-1000
3/8(&) Bh QKA {1 — 0.13 — PA-1000
@IJZ>aF — 0.10 — PA-1000
ibis 0. 09 0.13 — PA-1000
OEHBH L (L) — 0.14 — PA-1000
QmERIA AR — 0. 11 — PA-1000
2/8(&) BEL QKR A5 {13 — 0.13 — PA-1000
@I5>aF — 0.12 — PA-1000
fibis 0. 10 0.13 — PA-1000
OEHBHL (L) — 0.13 — PA-1000
. QrERIA DR — 0.12 — PA-1000
R | @nmaitE = 0. 13 — [ Paioo
@I5>aF — 0.10 — PA-1000
ibis 0. 11 0.13 — PA-1000
OEHBH L (L) — 0.14 — PA-1000
QrERIA DR — 0.13 — PA-1000
12/71(&) Bh QK ER #1513 — 0.14 — PA-1000
@I5>aF — 0. 11 — PA-1000
whi5 0.13 0.13 — PA-1000
OEHBHL (L) — 0.14 — PA-1000
QrERIA AR — 0.10 — PA-1000
11.712(R) Bh QKR A5 113 — 0.12 — PA-1000
@I5>aF — 0.10 — PA-1000
ibi5 0.18 0.14 — PA-1000
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ERE24 4
AEE X A ARRATRZAER) | pimes %
5cm 50cm 100cm
OEBHIL (L) — 0.14 — PA-1000
QI AL +E — 0.12 — PA-1000
10710(Kk) BEh 7K ER A 1513 — 0.13 — PA-1000
@IF5>aTF — 0.10 — PA-1000
ibi5 0. 20 0.14 — PA-1000
OEBHIL (L) — 0.14 — PA-1000
QA O F:E — 0.14 — PA-1000
9/10(H) Bh Q7K B A 35113 — 0.13 — PA-1000
@IF5>aTF — 0.13 — PA-1000
ibi5 0.16 0.14 — PA-1000
OEBHIL (L) — 0.15 — PA-1000
QmEAIA O +HE — 0.13 — PA-1000
89(K) Eh Q7K ER A 1513 — 0.14 — PA-1000
@IS5>aF — 0.12 — PA-1000
15 0.14 0.14 — PA-1000
OEBHL (L) — 0.15 — PA-1000
QA QTR — 0. 11 — PA-1000
779(B) Bh Y8/ &30P — 0.14 — PA-1000
@IS>aF — 0.12 — PA-1000
15 0.14 0.13 — PA-1000
OEBZHL (L) — 0.14 — PA-1000
Q@mfIA O FHE — 0.14 — PA-1000
6718(A) Eh QKA B {13 — 0.14 — PA-1000
@IZ>aF — 0.13 — PA-1000
iz 0.15 0. 16 — PA-1000
9/11 (787)
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SHl = SN =
B B - E 2 I 5 ARQATEL—TARBR | pisesg e
DIEFHID (1) — 0. 16 — PA-1000
QrERIA O ffE — 0.15 — PA-1000
5/14(A) Bh QKR A5 {13 — 0.15 — PA-1000
@IJZ>aF — 0.13 — PA-1000
fibis 0. 15 0. 16 — PA-1000
OEHZHL (1) — 0.17 — PA-1000
QrERIA Ot — 0.15 — PA-1000
418(K) KL Q7K R A5 113 — 0.15 — PA-1000
@I5>aF — 0.14 — PA-1000
fibis 0. 20 0.17 — PA-1000
OIEFEH (L) — 0.17 — PA-1000
QA O +HE — 0.14 — PA-1000
3./16(%) Bh Q7K R A 35113 — 0.15 — PA-1000
@I5>aF — 0.14 — PA-1000
ibi5 0.18 0.17 — PA-1000
OIEFEH (L) — 0.18 0.17 PA-1000
QmEAIA O +HE — 0.16 — PA-1000
2/10(%) Bh Q7K R A 35113 — 0.16 — PA-1000
@IZ>aF — 0.15 — PA-1000
15 0. 20 0.18 — PA-1000
OIEFHD (L) — 0.18 0.17 PA-1000
- QmEAIA OfHE — 0.17 — PA-1000
1 /22?,5‘)‘%;” QK ERA1513E — 0.17 — PA-1000
@IZaF — 0.16 — PA-1000
15 0.19 0.18 — PA-1000
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5¢cm 50c¢m 100¢cm

Bt ER (1) — 0.19 0.17 PA-1000
12770K) BEh b5 0. 20 — — PA-1000
BB 48 A A — 0. 34 — PA-1000
11 14(8) BY Bt ER (L) — 0.19 0.18 PA-1000
i5 0.18 — — PA-1000
Bt ER (L) — 0.19 0.19 PA-1000
hi5 0.18 — — PA-1000
10721(&) £Y &k it — 0. 21 — PA-1000
HE A A — 0. 20 — PA-1000
KA 15 KE — 0.18 — PA-1000
) &k i — 0.19 — PA-1000
g/ﬁz(m,}f)sﬁﬁﬁh HE A A — 0.22 — PA-1000
TKER A5 KB — 0.18 — PA-1000
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